Quiz 1 for Principle of Economics  version B  Name          

1.
 The overriding reason why households and societies face many decisions is that

	a.
	resources are scarce.

	b.
	goods and services are not scarce.

	c.
	incomes fluctuate with business cycles.

	d.
	people, by nature, tend to disagree.


2. A production possibilities frontier can shift outward if

	a.
	government increases the amount of money in the economy.

	b.
	there is a technological improvement.

	c.
	resources are shifted from the production of one good to the production of the other good.

	d.
	the economy abandons inefficient production methods in favor of efficient production methods.


 3. Sophia is planning her activities for a hot summer day. She would like to go to the local swimming pool and see the latest blockbuster movie, but because she can only get tickets to the movie for the same time that the pool is open she can only choose one activity. This illustrates the basic principle that

	a.
	people respond to incentives.

	b.
	rational people think at the margin.

	c.
	people face tradeoffs.

	d.
	improvements in efficiency sometimes come at the expense of equality.


4.  Making rational decisions "at the margin" means that people

	a.
	make those decisions that do not impose a marginal cost.

	b.
	evaluate how easily a decision can be reversed if problems arise.

	c.
	compare the marginal costs and marginal benefits of each decision.

	d.
	always calculate the dollar costs for each decision.


5. In the circular-flow diagram, which of the following items flows from firms to  households through the markets for goods and services?

	a.
	goods and services

	b.
	dollars paid to land, labor, and capital

	c.
	dollars spent on goods and services

	d.
	wages, rent, and profit


6. A construction company has built 30 houses so far this year at a total cost to the company of $7.5 million. If the company builds a 31st house, its total cost will increase to $7.76 million. Which of the following statements is correct?

	a.
	For the first 30 houses, the average cost per house was $250,000.

	b.
	The marginal cost of the 31st house, if it is built, will be $260,000.

	c.
	If the company can experience a marginal benefit of $275,000 by building the 31st house, then the company should build it.

	d.
	All of the above are correct.


7.
Following the implementation of laws requiring automobiles to have seat belts, which of the following occurred?
	a.
	An individual’s probability of surviving an auto accident rose.

	b.
	There was an increase in pedestrian deaths.

	c.
	There was an increase in automobile accidents.

	d.
	All of the above are correct.


Figure 2-4

[image: image1.emf]Z

Y

V

W

1020304050607080 notepads

5

10

15

20

25

30

35

40

45

50

lamps


8..
Refer to Figure 2-4.  If this economy devotes all of its resources to the production of notepads, then it will produce 

	a.
	0 notepads and 40 lamps.

	b.
	35 notepads and 20 lamps.

	c.
	70 notepads and 0 lamps.

	d.
	70 notepads and 40 lamps.


9. Refer to Figure 2-4.  Inefficient production is represented by which point(s)?

	a.
	Y, Z

	b.
	V

	c.
	V, W

	d.
	W


10. “Allowing all individuals access to Medicare and Medicaid for health insurance is the fair thing to do” is an example of a
	a.
	contradiction in economic theory.

	b.
	positive economic statement.

	c.
	negative economic statement.

	d.
	normative economic statement.


11.
For which of the following individuals would the opportunity cost of going to college be highest?
	a.
	a promising young mathematician who will command a high salary once she earns her college degree

	b.
	a student with average grades who has never held a job

	c.
	a famous, highly-paid actor who wants to take time away from show business to finish college and earn a degree

	d.
	a student who is the best player on his college basketball team, but who lacks the skills necessary to play professional basketball


12.  The average cost per seat on the 75-passenger Get-There-Safe Bus company's trip from Milwaukee to Minneapolis, on which no refreshments are served, is $37. In advance of a particular trip, three seats remain unsold. The bus company could increase its profit only if it

	a.
	charged any ticket price above $0 for the three remaining seats.

	b.
	charged at least $18.50 for each of the three remaining seats.

	c.
	charged at least $37 for each of the three remaining seats.

	d.
	paid three people to occupy the three remaining seats.


13. The inner loop of the circular-flow diagram represents the flows of inputs and outputs.  Which of the following does not appear on the inner loop?
	a.
	Wages

	b.
	Land

	c.
	Capital

	d.
	Goods and services sold


14. College-age athletes who drop out of college to play professional sports

	a.
	are not rational decision makers.

	b.
	are well aware that their opportunity cost of attending college is very high.

	c.
	are concerned more about present circumstances than their future.

	d.
	underestimate the value of a college education.


15. Table 2-1

The following table contains some production possibilities for an economy for a given month.

	Tables
	Chairs

	5
	300

	10
	?

	15
	100



Refer to Table 2-1. If the production possibilities frontier is bowed outward, then “?” could be

	a.
	100.

	b.
	270.

	c.
	200.

	d.
	50.


16. Suppose an economy produces two goods, food and machines.  This economy always operates on its production possibilities frontier.  Last year, it produced 1000 units of food and 47 machines.  This year it experienced a technological advance in its machine-making industry. As a result, this year the society wants to produce 1050 units of food and 47 machines.  Which of the following statements is correct?
	a.
	Because the technological advance occurred in the machine-making industry, it will not be possible to increase food production without reducing machine production below 47.

	b.
	Because the technological advance occurred in the machine-making industry, increases in output can only occur in the machine industry.

	c.
	In order to increase food production in these circumstances without reducing machine production, the economy must reduce inefficiencies.

	d.
	The technological advance reduced the amount of resources needed to produce 47 machines, so these resources could be used to produce more food.


17. Short answer question
Answer the following questions briefly.  Make sure your hand-writing is clear. 
Let’s consider a simple question: Do hospitals make people healthier? The following table displays the average health status (assigning a 1 to poor health and a 5 to excellent health) among those who have been hospitalized and those who have not: 
	Group 
	 Sample size
	 Average Health Status

	Hospital
	7774
	3.21

	No hospital
	90049
	3.93


Based on the table,  can we conclude that going to hospital makes people sicker?  Why? 
Answer: No.  There is some selection bias:  sick people would choose to go to hospital more often while healthy people would choose not to get hospitalized. So the average health status of no hospital group might still be higher than that of the hospital group, even after the treatment. 
